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Choose the correct answer

. | &Y g R AT an) g ofv

51 The Parda System started in India from

(A) Vedic Period / 3g® @Ter (By-Mustim—Period—FfoeTror —
(C) British period / fafeer @rer (D) None of these / 58 & FE g |

52 The war of Independence of 1857 failed because . | 3¢y & WeawAar A A Awean

T YA HROT |

(B) It was not supported by public / STdT &)
#eg F fAder

(D) It began prematurely / AT & gl & SN

(A) The revolution was not well organised /
@ Re Fafsa g
(C) There were differences of opinions / I
# estar

53 The pressure of air in a motor tyre is due to : / AR ST A gaT FT &aTd delclT 2

(A) Sticking of air particles on the tyre / ga1 (B) Air partical hitting the tyre from inside / &aT
¥ T TR W RuFa § & FT IeeT ¥ TRT W ToR T ¢

(C) Displacement of vacumm from the tyre / (D) None of the above. / 3ad®# & 1§ E |
. TR ¥ faEfa & suEeaRa @ @ v

5‘% The tax which the kings used to collect from the people in the Vedic period was called __

| 3R% g & T HUA o @ S W IGH BQ 9, SH H Feq F 7
(A) Varman / s (B) Bali /

(C) Kara /=0 (D) None of these / T & B8 T .
Principles of 'Panchsheel' were framed in which place___ ./ vaedflars Rigia fraem X &

w9 a |
(B) Hong - Kong / @I9T - &ir
(D) None of these / §1® & 1§ ¢ |

(A) Columbo / @Y
(C) Bandung / &g
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56 Remains of Indus Valley Civilization in Rajasthan have been found from J e o
FHIAT & HEAY ToHy & 5 s & qw a9 | '

(A) Kalibanga / sifereem (B) Ropad / T9s

(C) Jodhpur / Sierg® (D) None of these / & & F1§ e |

57 The Government of India Act, 1919 was based on . 1 3R8R FT HRART wee fhw W
ImaiRe ar | -

(A) Slmon Commission / IEHA HHRIT (B) Montagu Chelmford Report / #iZey
(C) Minto - Morley Reforms / f&feY - #itef gur D) None of these / & & ®§ #1gt |

The first Roman ruler who adopted christianity was . 9YF QAT TS S
s gt &t e o

(A) Pompii / dtarh (B) Constantine / eI

(C) Augustus Caesar / 3MAAH Foi¥ (D) None of these / 38 & FI§ ET |

The second battle of Panipat was fought between . | aifagd & @l a1 rad diw

§'§' !

(A) Akbar and Hemu / 3&a T &5

59

(B) Babur and Ibrahim Lodhi / &YX @ 331‘%‘8‘

=ifer

D) Akbar and Mahar Pratap / 3% -
(C) Humayun and Sher Shah / g#TY - Q’RQHE( ) ana Fratap
Heom 9daiq

60 Who was the farst Muslim invader in India ? / #RT X §HeT FI AT YgaT g‘%m‘ ?
(A) Mohammed Bin Qasim llg'e?naﬁ?riﬂﬁﬂ (B) Muhhamad Gauri / fgFag 3
(C) Mohamed Ghaznavi / #gFHg sterdt (D) None of the above. / 3a&% ¥ #1§ ¢ |
The State of Orissa in its present shape was formed in the year__? / 3311 TS & TYI9=TT

A g8

(A) 1936 (B) 1937
(C) 1938 (D) None of the above / 33 ¥ 1§ &l

61
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52 According to which Article of the Indian Constitution, Jammu & Kashmir has been accorded
special status ?

(A) 870 (B) 371

(C) 356 (D) None of the above / &T® ¥ 1§ =gt
63 Who is India's first woman Foreign Secretary ? / IR ¥t waH Afgar fageyr wfva s § 2

(A) Chokila lyer / ST 31221 , (B) Indira Goswami / g=aT MAATH

(C) Gauri Chatterjee / ol et (D) Indira Gandhi / =g =t

64 In which session of'the year, President addresses both the Houses of Parliament ?
A) First Sessi Budget
(A) Fir ession (Budget) (B) Second Session (Monsoon)

(C) Third Session (Winter) (D) Fourth Session (Summer)

65 Who calls the Joint Session of the two Houses of the Parliament ? / gz % st = HYH T B

ESUGET R
(A) The Prime Minister / suwes (B) The Lok Sabha Speaker / @ w1 s
D) None of these / g
(C) The President / wfr C) R ARG A

66 Which constitutional Amendment deleted the Right to Property from the list of Fundamental
Rights ? / #owag siveris @t & R dRam 9w 20 ka3 afeR &t gemr w7

(A) 44th Amendment / 443 wstaw (B) 62nd Amendment / 624 wisher

(C) 43rd Amendment / 34 st (D) None of these / g @ ¥ LT |
67 Marx belonged to/ ATFd rfRRT A I FT qU F & 2

. (A) Germany / Sr&=Y
(B) Holland / gfdvz

(D) Britain / fyes

68 How many parts are there in Indian Administration? / s yarew & B s & 2

(C) France / W&

(A) 05 / o5 (B) 03 / o3

(C) 02/ o2 | (D) 07 / o7
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69. The President of the country can be removed from his office through -/ m%sr%mﬁmw’
% Ted T TS q & o w7 .

(A) Special Parliamentary Session / &3y swé=  (B) Prime Minister / PEIEEE
el
(C) Impeachment / s=feE a1 (D) None of these / i & 9 =&
70. The declaration that Democracy is a Government 'of the people, by the people, for the people

was made by ___.I%mmﬁﬁmﬁsaﬁmwwm%wﬁ‘maﬁ,mmaﬂww%m’a?

(A) Abraham Lincoln / smmey R (B) George Washington / s afftires
(C) Winston Churchill / fges affa (D) Theodore Roosevelt / fricr wwie

71. Principal source of river Panama____? / e ot &1 Hew v &

(A) Lake Victoria / e siter (B) Amezan river / i 7dY
(C) Lake chilka / Rrer giter (D) Arabian Sea / 3T TR

72. Soil erosion on hill slopes can be checked by __. / v wid W 5a7 avoved 2 Rew weR Pl Rear o e
g7
(B) Afforestation / awqe
(A) Terrace culitivation / sum-gi

(C) Strip cropping / wedier & (D) Contour ploughing / wi=rd s

73. Bar is the mneasuring unit of - / ax & 7% % 7% 2 -

(A) Depth / = (B) Height / =&
(C) Atmospheric pressure / aamia =~ (D) None of these / a1 & #1§ wi@r |

74. The steel city Rourkela is situated on the bank of river___? / U3{&aT WY R P d F ge
) RAyg

(A) Brahmani / sreATOR (B) Baitarani / dwoft
(C) Subarnarekha / gaviftar (D) None of the above / 3@ ¥ :1§ =gt
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75. Which of the following is not a hill station in South India ?

(A) Ooty/ 5 ‘ (B) Kodaikanall @
(C) Coimbatore/ @iwacR (D) Mount Abu/ w3iEery
" Which of the following is called "Blue Planet" ? / feaifaf@a # & fru ‘e & Fg e ?
(A) Earth / gt (B) Jupiter / ST
(C) Mars / #TeF (D) None of the above. / 3% ¥ F1§ % |
77. Jhumming is shifting agriculture practised in | 7 g w WA R Y
(A) North-East India / sy s (B) South-West India / cwr-aRew
(C) South-East India / -1 sra (D) Northern India / scwsma

78. Name the biggest delta of world. / HOR & Y 92 ¥l & T SR |
(A) Delta of Missi-sipi / & Rt &1 et (B) Delta of Ganga / v @ 3wt
(C) Delta of Yang-ti-se / aifedt @ Sz (D) None of these

79. The place where both the Indian Standard Time and Local Standard Time is the same is;
(A) Allahabad

(B) Delhi
(C) Patna (D) Ujjain
80 Grass land is called 'Pampas’ in __? / IRITE &I Yroy FEr AT § ¥?
(A) South America / &fRror AR (B) UK/ T &F

(COOUSA/F T T (D) None of the above / 18 ¥ F1§ el

81. Which of the following states became the first state( ueen¥a)in the country to launch RBI
e-payment system for commercial (aiforsa wwerl) tax payers ?
(A) Andhra Pradesh (B) Kerala

(C) Gujarat (D) Karnataka
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Which among the following countries has the highest per capita income ? | fot ff@a A

82.
i |7 ?
(B) Japan
(A) U.S.A. : (D) None of the above / 579 & F§ g
(C) China
Credit Card is known as ? / 3Rc &2 3 99 ¥ S S °
83.

(B) Easy Money /[ &f =it

(A) Hard Money / & =
(D) None of the above. / A ¥ PE A |

(C) Plastic Money / wifes T

84. Hindu rate of growth is regarding ? / fog gfe R & wada & 7

(A) Per Capita Income. / st = o/
' (B) National Income / i o
(D) None of the above. / 3% ¥ 1§ A8 |

(C) Literacy / awwan
85. Whose signature is found on a 50 rupee currency note in India ?

(A) Governor, RBI
(B) Finance Minister

(C) Prime Minister of India (D) Secretary, Ministry of Finance
? | e FHA § R A TG

&2~

During inflation prices of goods and comodities

A) | | AE STelt
(A) Increases / #iEaft g e ¥ (B) Decreases / &¥l gf Sielt ¥

(C) No change / 1§ gara et § (D) None of the above / $1# & 1§ gl |

The exess of price a person is to pay rather then forego the consumption of the commodity

87 is canedimmﬁaﬂﬁwﬁﬁaﬂmﬁ#mmmmmmmw%aw
AT HgT T § ? |

(A) Price /| ®Ad (B) Profit / &7

(C) Consumers surplus / 3qsiierar &7 Ffady (D) None of the above. / §a& ¥ 5 78 |
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88 By which name is the common currency oﬁhe European Union Known ? / Wﬂ' oA #
HEATT AT FT W {7
(A) Euro / T1¢ _ (B) Rouble / &ae
(C) Franc / %% (D) None of the above / 3T & 1§ =1d
goIndian currency is a legal tender in/ AT AT TF FfA THA ¢ ? |
(A) Bangladesh / Ssaalreer (B) Pakistan / qrfh¥dareT
(C) Nepal / a9l (D) None of the above / 3% ¥ ¥ gt

90 Reserve Bank of India was nationalized in the year ? /| RN REd 3= F1 awraeE
favar T ar ?

(A) 1948 / 1948 & (B) 1949 / 1949 &
(C) 1951 / 1951 & (D) None of the above / 3% ¥ ¥ ¢l |

91 Find the greatest length of rod that can be placed in a room 12 mtr by 10 mtr by 8 mtr. / T&F HAY HT HFR 12
x 10 x & Ho g A O HWFaw fFaeh ardh s W sTFFN & 2

(A) 175 meter / 175 o
(B) 17.5 meter / 17.5 #o

(D) None of the above. / 3® @ HI§ E¥ |
g2 H C F of (x3- 64) and (x2-16) is ....... ? / (x3- 64) 3T (x2-16) FTH C F ¥ |

(C) 20 meter / 20 #o

(A) (x-2) / (B) (x-6) /

(D) None of these / 3a® ¥ HI ¢ |
‘g3 Evaluate 71/ 51 = 2 / 1 71/ 51 = 2

(C) (x-4) /

(A) 42 (B) 84

(C) 1260 (D) None of these / 3 ¥ FF =igt
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94  Find the distance between (2,3) , (4,1) : / =gt (2,3) 3R (4,1) &1 1w T g AeH aﬁrﬁm I

(B) 3
(A) 32

(€) 2V2 (D) None of these / 313 ¥ #I§ afr

95 What minimum sum is to be added to 1534 so that it becomes exactly divisible by 31 / undefined

(A) 16 /16 (B) 18 / 18

(C) 24 1 24 (D) None of these. / ST & #E et |

96 If the surface area of a sphere is 616 cm2 what will be the diameter of the spere 7 / frd e &1 W SEL] 5
616 cm2 ¢ aY Ier &1 3 e gemm ?

(A) 14 cm / 14 cm (B) 22 cm / 22 cm

(C) 18 cm / 18 cm (D) None of the above. / 8 & FI$ el |

97 Thesolutionofdy+y=11is...... ?
dx x x/ WA s dy +y =1

(A) x(x+1)= ¢ / x(x+1)= ¢ (B) x(y-1) =c / x(y-1) =c

C) yx+1) = ¢/ y(x+1) = ¢
(©) yeet1) yo+1) (D) None of the above. / 31& & ®1§ el |
08 Time taken by a 100m long train moving at a speed of 300 k/h to cross a bridge of 600

length is - / too HieT @A YT Goo HEX TFY YW FY 300 fralie gfer wver A A ¥ 4R

F A GHT d9ln:

(A) 8.4 s (B) 4 s

(©) 84 (D) None of these. / & & ®Ig el |
S .

og The income derived from 600 shares when the face value of one share is Rs. 10 and dividen
is 16%, is - / 10 ©ud T 3 600 I & Y FAT BN, TS AN 16 Horrd ¥ 2 :

" (A) Rs. 960 / (B) Rs. 96 /
(C) Rs. 9.6 (D) None of these / s & 3¢ &
100 Tan 452 is equal to - / Tan 45° =< ® -
A 11 (B) V3

(C) 2 (D) 1/2



